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Candidates must write the Code on the
title page of the answer-book.

o FHUA T F T Toh 38 TH-9F H Yigd I8 12 ¢ |

o TWH-UA H Fied FNU HI AR ST T Shig ¥ Hl BH IT-IEehl o J@-I8 W
g |

o FHUII I R A foh 3 THA-TAH 35T |

o HUAT T 1 IW {TEHT & HIH ¥ UgeA, T 1 THuTeh 99 ford |

o 39 YU Wl UG o [T 15 e 1 wm fean mn 8 | w9 1 faawn gals
T 10.15 51 fopaT ST@W | 10.15 S ¥ 10.30 1 b B hadd IH-UF bl Teil
3T 39 AT & R o IT-YIEdh! T g I a1 fore |

e Please check that this question paper contains 12 printed pages.

e (Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 35 questions.

e Please write down the Serial Number of the question before
attempting it.

e 15 minutes time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the
students will read the question paper only and will not write any answer on
the answer-book during this period.
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POLITICAL SCIENCE

FEiRa 77 : 3 T2 S7ferBaH 37% : 100
Time allowed : 3 hours Maximum Marks : 100
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(i) Gt 397 3714t & |

(i) 9T G&IT1-10 T% UF 3% & & | 37 I & 3K 20 s3] & 3 757 514
FIET |

(iii) 97 G&IT 11 - 20 T TT 37H] & & | 37 F91 & T 40 Jsg] & 3% 737 514
FIET |

(iv) 97 G&I121 - 80 7% AR IHl & & | 57 J941 & IK 100 55! G 37l &7
&7 T1eY |

(v) I3 G&IT31-385 TF B: 3H & & | 37 Fo] & IX 150 s3] & 37 757
&7 =T |

(vi) 97 G&IT 22 TElEE W TGINRG 397 & | 3q% IR 3794 FR-GIeaarr 7
ferfea |

General Instructions :
(i) All questions are compulsory.

(it)  Questions number 1- 10 are of 1 mark each. The answers to these
questions should not exceed 20 words each.

(iti) Questions number 11— 20 are of 2 marks each. The answers to these
questions should not exceed 40 words each.

(iv)  Questions number 21— 30 are of 4 marks each. The answers to these
questions should not exceed 100 words each.

(v) Questions number 31— 35 are of 6 marks each. The answers to these
questions should not exceed 150 words each.

(vi) Question number 22 is a map-based question. Write its answers in your
answer-book.

1. a9 YRd % U8l MW YA H -1 ToiHifaeh g qad 9 falieht ga1 o &9
H 39 ? 1

Which political party emerged as the largest opposition party in the first
general election of free India ?

2. ‘wuw fadeee’ e ? 1
What was ‘Congress Syndicate’ ?

3. IE S A & Tt ek fsend &1 3g@ Fifsu | 1
Mention any one finding of the Shah Commission of Inquiry.

4. TR TGIeH w31 FHE TE 73T ? 2%:1

When and where did the Anti-Arrack movement start ?
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et form of NFF ?

6. T8 (SAARC) % 2l g1 G- o I & Jeoi@ T | 2xé=1
Mention the names of any two member-states of SAARC.

7. QAU 1 WA @ 1 AT B 2 1
What is meant by the strategy of ‘hide’ ?

8. WO $SINT 1 THE S F1 7 ? 1
What is the main function of Amnesty International ?

9. Y fohd YRR URFIReh FR&TT 1 Teh o @ ? 1
How is deterrence a component of traditional security ?

10. 9., oETeEifed w ufdg o ? 1
What was P.C. Mahalanobis famous for ?

11. YRAE 99 § <Hl a8l o faad # TR 9 hl HehT I 3gT HIT | 2

State the role of Sardar Patel in the integration of Princely States into
the Indian Union.

12. YA % $S YU-GIR THhA R & ? 2
Why were some land-reforms not successful in India ?
13. YRA A A9 GEATY] W& Siaeeg FfY (CTBT) T gEA1eR 1 el ot ? 2

Why did India not sign the Comprehensive Test Ban Treaty (CTBT) ?

14. YUHhaEg 3R &FaTE H A T HIT | 2

Differentiate between separatism and regionalism.

15. YNd TLhR i fhd HRIETE & AW o o H Ueh 981 Hehe @I &l T ?
3B TEH T W DIH-91 T F1R=T 2 1+1=2
Which action of the Government of India threatened the fish workers’
lives in a big way ? Which organisation did they form at the national

level ?

16. i Jg 1 aiewmyn fafew | 2
Define Cold War.

17. e AT & Tohegl a1 qiom =1 3g@ i | 2x1=2

Mention any two consequences of Shock Therapy.
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19.

20.

21.

22.

1y to overcome hegemony.
ek (SAARC) &1 foeqa &9 fafay | 38 o@ B 3 He&a-¢¥l s M Wl
3ech@ I | 1+1=2

Write the full form of SAARC. Mention the names of its two smallest
member-countries.

TSI <R qiedTT i | 2
Define Geo-politics.

SReltehToT 1 aRHTST T | 3Hh! Toheal 31 faRIvaTsti 1 3g@ T | 2+(2x1)=4
Define globalisation. Mention its any two characteristics.

gat WRd & fou e aeHifas aefs 8, =) as s @), @), © it O

TR ST T 8 | 39 USAl bl A1 &) T8 FTHehRI o YR 9T Ig=-T T 3

TE A, Y T q9T HEld TR fEd, 319 I gieae ¥ fafew 4x1=4
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(ii) %WWWW&%HWW%WH@WWWM%
YR T 1948 H 37W A 53T |

(i) 98 Us¥ J@l Usiid Teft 991 Ataem o o= 1986 H Wifd dHsid W
FLATeR fopu MU |

(iv) 39 T3 I FEI07 1960 § g3 |

In the given political map of North-East India, four States are marked
as @), @), © and (D). Identify these with the help of information given

below and write their correct names in the answer-book along with their

A
....-3"““& /) ,(

©

serial numbers and the alphabets concerned :
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(ii)) The State is the first part of free India where general elections
were held in 1948 on the basis of universal adult franchise.

(iii) The State where Rajiv Gandhi and Laldenga signed a peace accord
in 1986.

(iv)  The State was created in 1960.

Fie:  [HEliiga o7 Sac GIREIT ahemiaal @ o7, FeT Ger 22 & LI WE |

Note: The following questions are for the BLIND CANDIDATES only, in
lieu of Question No. 22.

Fr=fafaa aeat & s fofgu 4x1=4
(i) YO A 1 HH-A1 TsF 1979 & 1985 as el & foeg g9 ol

SATCIAA! T HaTdH IS & 2

(i) -G TS, Todd YT T 98T T AT &1 ATaHiiieh ga%h Halfeehi
T SATHTNG 3 IS 1948 H B3 2

(i) 1986 H, TS el qAT ATASM * o= gY WIfd THA 1 Gag e
TT 4 8 2

(iv) YA WA 1 HH-AT TSI 1960 H ST 7 2

Answer the following questions :

1) Which State of the North-East India is the best example of
movements against the ‘outsiders’ from 1979 — 1985 ?

(i)  Which State was the first part of free India where general elections
on the basis of universal adult franchise were held in 1948 ?

(iii) Which State is related to the accord signed by Rajiv Gandhi and
Laldenga in 1986 ?

(iv)  Which State of the North-East was created in 1960 ?
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4dx1=4

Explain any four determinants of India’s foreign policy.
24. U SIARE FT AT ? 1971 JAE H SHeh! AT YR off qAT SEHRT FAT IHOH
Fepett 2 1+2+1=4

What was ‘Grand Alliance’ ? What role did it play in 1971 election and to
what result ?

25. = fou U HA w1 emyEs stem #ifve qur Frefafed s % W
e - 2+2=4

(i) I8 H1eA gfequr wivren # efiwr e <l ufshan §, WRa qei uTfehedH <l
fHeRT < SR | A1 g @ ?
i ®, W, @ ©)ga sifera FRIAT ATk & aTH TR TER-M &

fou emfera 8 | 39 A fafaw |
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(1) What does the cartoon tell you about the role of India and Pakistan
in the process of regional cooperation in South Asia ?

(i1) The four chairs marked as , @, @ and @ are reserved for
the remaining four member-countries of SAARC. Write their
names.

Fie:  FHEciad 397 Haq gIEIT ahenmidat & 1o7g, 397 G 25 % T WE
Note: The following questions are for the BLIND CANDIDATES only, in
lieu of Question No. 25.

frafeTRad sl = I fofia 2+1+1=4
(i) & @gar &l kA H WRA qen uifeea™ W HEqul YR i
ST HINT |

(i)  ®Th (SAARC) &1 foeqa &9 fafau |
(i) TFRI (SAFTA) I foqd €9 faifau |
Answer the following questions :

(1) Explain the significant role of India and Pakistan in the process of
regional cooperation.

(11) Write the full form of SAARC.
(111))  Write the full form of SAFTA.
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an Missile Crisis.

Fs

27. URA H ASHT ST H TAGET Fd 3R HH g3 ? I8 Tohd Ieedl hl gfd
el & ? 1+3=4

When and how was Planning Commission of India set up ? What does it

aim to achieve ?

28. Y& Uftyg § IR @H & fofu U Tomft qun oremht wewi o fou ywarfaa
fopmdl = mTUEEl 1 JUH HIRT | dx1=4

Describe any four proposed criteria for the next permanent as well as
non-permanent members of the Security Council in order to improve its
functioning.

29. dfvaes Tedadar g TpR @A 1 @id & ? = v | 4

How is global poverty a source of insecurity ? Explain.

30. 30 MaTS AR Tl MATS o <, fhd TSR T & TA-3TT IS
R 7, o foh T aie o Goteht 9 TR 2 SAre i | 4

How was the environmental agenda persued by global north different
from that of global south as was obvious at the Rio Summit ? Explain.

31. Bd shif=d w1 off ? 35 fhal o HehRIcHe 3T T ThNIcHe UNUTHI hl 3gd
HITT | 2+2+2=6

CRC)]
TT YIS TR sl S I o | 3&eht yg@ fawricer = oft 2 38 fawri

CORER R CECIURERIRIC 2+4=6

What was the Green Revolution ? Mention any two positive and two
negative consequences of the Green Revolution.

OR

What was the task of the States Reorganisation Commission ? What was
its most salient recommendation ? How was the recommendation

materialised ?
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3+3=6
areran
TR qAT SFATRY o S IH] TgANT 99T THAIT o 2l-al & okl ATeheld
Hif | Iéx2+1éx2:6

Highlight the constraints on American power. Identify any two biggest
constraints to the American hegemony.

OR
Assess any two areas each of cooperation and disagreement between
India and Bangladesh.
33. f=fafga s = dfen 3t sg fi= for@ gt & 3w &S 3x2=6

R Afget TG A IR & TR HHIh ThUd oh Hei T
ft G IR W 91 L M | 79 g doh AT-ATd Al HATGIead FHH
TSHIfae gfdffeca & aTd & o o7 | |f9g™ o 734 3R 74d GiYH %
It afgenstt s T ToHifae et § e feur mn @ | 39 s¥ewen
I TSt 61 faumareti qon ug § Wi @] s Al 7 hl S W R | wEe |
39 A I T TungA fagues off g9 foRam S et B | g fageess ot enft
Toh & U B 81 &1 IR g |

94

(i) Tl STEIeH % G 3%kl &l J&F [r & off ?

(i) YR Gfga™ & 734 3R 749 TNY & A=<id Aigensdi @ b
ARG § I HH-Y 3 A9 TG ?

(i) @He § W T AGA o R Haefl Guned fIdues il SAawh
gadq =1 T8l fiaen 2 g @ SR fafau |

HAAT

Frafafga saawr i ufgr i 3o+ = forg et & 3 G - 3x2=6

SUE I R & WY YA sl AT FawqT H IGh cocsdl GcH &l
T | 1960 % €H o AfdH AT H HIUH o ThST TS ol Al et of,
Tifehd 3feU Tl < A9 H HUE IR TSI W 3191 94 TR & e
fRaT | 759 o TEh § HIUY i WU BREEd I Tk SR R THEKT el |
SEEIA $E! A I8 el & foh HId T S8 HIs gadl el yg@ & TE |
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A S <A S TEE ® B | 1989%6@@?@%&@1&@1@ | o7 HE
Tiféat 38 a@ Wl for forell wm-ar widt =1 &t arferepisr ale an Hie & e U
o | 39l Taas Ag | g1 Tb 1989 % &G AAlehawl o IAEl H i off fepet
T ATl ol QU IgAA el el | 36 SGATd % WY shg H Tesdd N 1 G
IE BT 3N &A1 a1l A T3 ThR oA | Hgeaqul fHent Fawl |

a9

(i) o9 h P H HIUH o IMUYT I AN hl TRl H DIH-E T
fireft 2

(i) & Wil 3 g H Mo TR S | 1 YRt T 2

(i) TeSYH % TT T H fohegl q IH@ TSI STl 1 3@ hif |

Study the passage given below and answer the questions that follow :

Focus of the women’s movement gradually shifted from legal
reforms to open social confrontations. The movement made demands of
equal representation to women in politics during the nineties. 73" and
74" amendments have granted reservations to women in local level
political offices. Demands for extending similar reservations in State and
Central legislatures have also been made. A Constitution Amendment
Bill to this effect has been proposed but has not received enough support
from the Parliament yet.

Questions :
(1) During the women’s movement, which were their two main
demands ?

(i1)  According to the 78" and 74"™ amendments of the Indian
Constitution, by granting reservations to women, in which two
ways have they been benefitted ?

(iii) Why could the Constitution Amendment Bill regarding the
reservation to the women not get enough support ? Mention any
two reasons.

OR
Study the passage given below and answer the questions that follow :

The defeat of the Congress party marked the end of Congress
dominance over the Indian party system. Way back in the late sixties, the
dominance of the Congress party was challenged; but the Congress under
the leadership of Indira Gandhi, managed to re-establish its predominant
position in politics. The nineties saw yet another challenge to the
predominant position of the Congress. It did not, however, mean the
emergence of any other single party to fill in its place.
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Y cruuducse waways had representatives from several political parties.
What happened after 1989 was the emergence of several parties in such a
way that one or two parties did not get most of the votes or seats. This
also meant that no single party secured a clear majority of seats in any
Lok Sabha election held since 1989. This development initiated an era of
coalition governments at the Centre, in which regional parties played a
crucial role in forming ruling alliances.

Questions :

1) In the nineties, what did people see as a challenge to the
predominant position of the Congress ?

(ii)  What crucial role did the regional parties play in forming coalition
governments at the Centre ?

(iii) Mention any two political changes during the new era of coalition

governments.
34. & Tifgwd g9 & fomed & fopedl ©: Fwepl o1 vl Hifv | 6x1=6
AAAT
“re-fRue Ao 19 ITUTERT B AT B |7 T Y 39 hYT ¥ HWeHd 8 ?
3T IW & U § HIg fF ITYH e aIfIT | 3x2=6

Examine any six factors which led to the disintegration of the former
Soviet Union.

OR

“Non-aligned Movement has become irrelevant today.” Do you agree with
this statement ? Give any three suitable arguments to support your
answer.

85. 1970 < <3 H WRd hl HRUMAH T =FAR—UIAHT o 9 feheal dF famer i
ST il | 3x2=6
3UAT

1970 % <k o YT H, JUH Tl $ieq et hl TThR fohd IO & AR

B ? 6

Explain any three controversies between the executive and the judiciary
of India in 1970s.

OR

What were the factors which led to the popularity of Prime Minister
Indira Gandhi’s Government in the early 1970s ?
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